
2
0

2
1

2
6

 - L
R

S
 9

3
M

Firefox D
eveloper E

dition
https://ekat.festool.de/E

K
A

T
/jsp/m

ain.jsp?select=
currentIm

ageA
ndPartli...

1 of 3
12/2/2020, 3:56 P

M



Pos Part No. Description Quantity Price
each Excl

VAT

Price
incl
VAT

Currency

1 xxx No longer available 1

2 630103 Motor cover 1 $44.98 USD

3 491615 Lamella (5 Set) 1 $13.69 USD

4 491593 Rotor 1 $30.51 USD

5 720025 Shaft 1 $49.35 USD

6 466338 Woodruff key 1 $0.91 USD

7 704785 O-ring 1 $5.09 USD

8 773627 Sleeve 2 $0.91 USD

9 720418 Bush 1 $44.48 USD

10 704788 O-ring 1 $2.52 USD

11 630109 Housing cover 1 $41.36 USD

12 709392 Switch lever 1 $3.15 USD

14 491416 Cap 1 $6.64 USD

15 228567 Raised-head screw 4,0 x 20 mm 8 $0.91 USD

16 462876 Weight 1 $10.08 USD

21 462877 Switch linkage 1 $0.95 USD

22 720602 Washer 1 $1.58 USD

23 200904 O-ring 1 $1.01 USD

24 720478 Piston 1 $0.95 USD

25 704786 O-ring 2 $2.85 USD

26 410290 Ball 1 $3.78 USD

27 463317 Pressure spring 1 $0.91 USD

28 720246 Sealing ring 1 $1.28 USD

29 491566 Housing 1 $41.83 USD

30 720617 Transparency 1 $0.95 USD

31 228713 Raised-head screw 4,0 x 16 mm 4 $0.91 USD

32 463325 Connecting piece 1 $2.45 USD

33 448805 Compressed air tube 1 $8.27 USD

34 704784 O-ring 2 $0.91 USD

35 782082 Nilos ring 1 $3.39 USD

36 203271 Feather key 1 $0.91 USD

37 720459 Air duct 1 $11.84 USD

39 720603 Collar 1 $10.31 USD

40 720460 Cover 1 $10.98 USD

41 720462 Cam 1 $19.61 USD

42 782105 Nilos ring 1 $5.04 USD

43 203775 Ball bearing 1 $7.56 USD

44 789607 Ball bearing 1 $7.08 USD

45 437392 Clamp 2 $3.55 USD

46 228616 Raised-head screw M4 x 5 4 $0.91 USD

47 437391 Clamp 2 $3.55 USD

48 774570 Flat head screw M3 x 10 4 $0.91 USD

49 720636 Counter balance 1 $24.91 USD

50 204120 Flat head screw M5 x 8 1 $0.91 USD

51 435291 Cap 1 $0.95 USD

52 483905 Sanding pad StickFix. 1

53 400663 Raised-head screw M4 x 10 4 $0.91 USD

54 483785 Plastic strips for abrasive tensioner 1 $6.10 USD

Firefox Developer Edition https://ekat.festool.de/EKAT/jsp/main.jsp?select=currentImageAndPartli...

2 of 3 12/2/2020, 3:56 PM



55 228514 Flat head screw M4 x 20 2 $0.91 USD

56 720635 Cam 2 $2.85 USD

57 630113 Abrasive tensioner, complete 1 $52.82 USD

58 720633 Plate 1 $68.35 USD

Firefox Developer Edition https://ekat.festool.de/EKAT/jsp/main.jsp?select=currentImageAndPartli...

3 of 3 12/2/2020, 3:56 PM


